Q- Statistics and Probability Review
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1. Ajar contains 12Yed marbles, 16 blue marbles, and 18 white marbles. ---=-’ :

a. Three marbles are chosen from a jar without replacement. What is the probability that 2%
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b. Four marbles are chosen from the jar with rep!acement What is the probability they are
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2. Find the probability of drawing the given cards trom a standard deck of 52 cards
(a) with replacement and (b) without replacement.

O a. aclub, then a diamond 3 Q Replacement Without Replacement
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d. aking, then another king, then a third king AL muoo;/sns
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t green parakeets (5 femalg and 13 males) and 25 sky blue

pel store has
’.l< 0Pg{p ak 15 temffa“ d 10 mal s) You randomly chobse one of/the parakeets: What is
the'pi itisa hwale sky blus.parakéets? -
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4. You randomly roll two six-sided dice. Find the probability of the given event.
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b. rolling doubles
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c. the sum is greater than 4
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d. the sum is greater than 7 and less than 11
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e. rolling a sum of less than 2
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5. Acommittee of 5 members is chosen from a group of 8 Republicans and 8 Democrats.

a. Find the probability that there will be no Democrats.
X a v s ) 12O SRt
)\\ ) = -—‘— I : - r———
—_— % L L |- 240340 My

O

b. Find the probability that there will be 3 Democrats and 2 Republicans.
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6. What are the measures of Central Tendency?

Mean wedion  wae do (P—ema@b

7. Find the mean, median, and mode for each set of data Qar\j e
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b.7,13,4,7
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c. 10,3, 8,15
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d.9%9,9,9,8

e. 300, 24, 40, 50, 60
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Find the mean, median, and mode for each set of data
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8. One of the events in the Winter Olympics is the Men’s 500-meter Speed Skating. The
times for this event are show to the right. Find the mean, median, and mode times. Then
Oreate a box plot (box and whisker plot) using the data.

Meont H. L |

Year Time/ Year | Time
v 1928- [434'/ [ 1964 [40.1
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